MAT 212, Quiz #15, Spring 2016 Name KgY

Instructions: Show all work. Answers without work required to obtain the solution will not receive full

credit. Some questions may contain multiple parts: be sure to answer all of them. Give exact answers
unless specifically asked to estimate.
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1. Solve for the general solution for the first order homogeneTus equation % = xzz;g;'z.
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2. Set up the system of equations needed to solve the system Bf springs and masses displayed
below if ky = 3,k, = 4,k3 = 2,m; = 1,m, = 2. Do not solve.
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4. Solve xy" + y = 0 with a series solution centered at Xo = y Z aﬂ()("') \’ za"n (}.‘)
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5. Verify that ¥(t) = 4e _at zr is a solution to the systefm g = 11 7
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